E.T.

(2.63) (2.64)

p(x)

b (139) ¢

(A1+Ax+Az| B)

(ArtAx+As|B)=  (AitAz|B)+  (As3]B)

(A1t+A2)

(A1+A2)Az= A1 AstA2A3
(2.66)

A1 Ay As

(A1 As+A2A3]B)

(2.66)

(2.80)

(2.81)



(A1+tAx+As|B)= (A1 |B)+ (A2|B)+ (As]B)
(A1A2]B) (A2A3] B) (AsA1 | B) (2.82)
+ (A1 A2A3]|B)

B
P(AA |B)=p(A |B)3, (2.83)
(2.82) 4
(A1+tAx+As|B)= (A1 |B)+ (A2|B)+ (As]B) (2.84)
As As { A1... A}
(2.84)
PA+++++A,IB) =X p(A[B) 1<msn (2.85)
,(2.85)
(2.85)
{A--Al
(2.85) m=n
> p(A B)-1 (2.86)
p(A | B)
p(A | B)
p(A | B)
p(A | B)



A1 A
P(AB),
] - {All' ’ 'Aln}
1
(2.87)
A=A
A=A
A=A 3<k<n
P(AB), 1=1,2 n
1
A
{All' ’ 'Aln}
(2.88)
= ' |B)||
P(A |B) = p(A,
(2.89)
B) = p(A'll B)n
P(A; | -
Al A
{All' ’ 'Aln}



{A--A)

(1.39) c
P(A [B), = p(A;[B),,i=12;-+n (2.90)
(2.88) (2.89) (2.90)
p(AL | B)| = p(Az | B)n (2-91)
A1 Ao
2.91
(AAL (A A p(A' | B)
A= A
P(A [B), = p(A"|B),, (2.92)
Ai
{A‘Hl"'p‘"n}
{AA}
p(Ak |B) = p(A"le)m’ k=12---,n (2.93)
(2.92) (2.93)
P(A |B), = p(A | B), (2.94)



n! i K (2.94)
(n-1)

P(A |B),
{A--Al
(2.86)
p(A | B) =% (A<i<n) (2.95)
(1921)
(2.95)
P(x)
P(X) (2.95)
P(Xx)
A Aj
Pi
Pi
p(x) X
x=A|B (O p 1)
(2.95)



dUu=TdS PdV dG=
SdT+VdP



